Al £ 0 &

20238 =0k LEsH HEXZHE

SN AEXIBHE
Ha: HEXH
ohol: QI

Al A

SA - B SRI(BH) - MRAR - BAS Ofl &t e HIREY
AEX 2 HE 1,412,290 1,512,174 A99,884
= 222,540
S 535,661
= 654,089
HEXH 1,372,130 1,477,921 A106,791
= 222,540
S 535,661
= 613,929
ol 837,976 0 837,976
< 49,813
= 341,163
ey 10,944 0 10,944
201 Zet24| 6,244 6.244
01 At2telt| 3,724 3,724
NURHM AREE Dl
70,0002 122 840
NelRE2 PRFE 0HAH
8,000 x2& *493] 784
NeRdM 88 S0 M
70,0002 30 2,100
2 =238l 2,520 0 2,520
1)SELSH| 150,000 122 1,800
DA 0822 60,0002 x12& 720
202 04l 4,700 4,700
01 SLH0AHI 4,700 4,700
NI JRFT S LHOIHI
50,0003 x28 *422] 4,200
NI S5 L0
50,0002 x18 %102 500
HEMEIETIA (EX) 527,032 0 527,032
= 196,813
= 330,219
301 LEtE NS 527,032 0 527,032
= 196,813
= 330,219
14IIEI2d= 527,032 0 527,032
NEA5|Y ClEs SEAY
100,000 <602 * 12 72,000
= 28,800
= 43,200
DEE FHAX=Hl XA
100,000 =2+ 12 2,400
= 960
o 1,440




2N

HE X R AIE

HE: HEXE
R o EH (e )
SA - BH - SRI(B) - MRAR - BAS Ofl st e HIDEY
eSS 2 OAEE 23kl X
150,000 «2F 122 3,600
= 1,440
= 2,160
NEESS 225513 T
2,000,000 70 140,000
S 42,000
= 98,000
NEEEE =Xt 309,032,000& 309,032
= 123,613
= 185,419
FHOESXE (AEUS) 300,000 0 300,000
= 300,000
401 AlZHIZ S OHYI 300,000 0 300,000
= 300,000
01 AlZHI 300,000 0 300,000
NHS MtHol2d SeHILIEIME &X
300,000,000 *1IH A 300,000
= 300,000
QIFAEHS 3,822 1,137,921 1,134,099
IRAEUS 3,822 0 3,822
201 2et2d| 1,722 0 1,722
01 AtR2t2lHl 1,722 0 1,722
NeIRAEUS MRES 7
70,0003 * 122 840
NIFASEUES SRS DAY
8,000 12 %493 3
DOIREIIHHSI S| FALe
70,0002 +7E*13] 490
202 O] 2,100 2,100
01 =LHOIHI 2,100 2,100
NRIRAEUE LRFX UL
50,0002 x 18 *423] 2,100
FE 331,220 340,000 8,780
= 126,000
< 26,500
= 178,720
FHE 19,220 19,220
201 24| 13,220 13,220
01 At2telHl 5,920 5,920
NAZLLEA QAL
8,0002 x28 *602] 960
NASTSXZALY SARIEE AAE
70,0002 x4 *23 560




2 A

HE X R AIE

M HEX|E
=R AE (&)
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
NASAARIAS S
70,0002 x4 *22] 560
NAZLRFE 22=2(22H &+ U=
S) NI 1,000,000& %12 1,000
Nes it sS4E P
400,000& 52 2,000
NAZYRFA NRES 7l
70,0002« 123 840
2 =23l 7,300 0 7,300
1N2EX &ot201e & |22l
4,000,000 * 19 & 4,000
NASOHAE SH0IX FAE4 22l
3,300,000& 3,300
202 O] 6,000 6.000
01 SLHoAHI 6,000 6,000
NAZLLEZ 2H01Y|
50,0002 28 *602] 6,000
HsHEZ S 50,000 50,000
402 2I2FX=201 M 50,000 50,000
01 QI X2 AL SR (KM THS) 50,000 50,000
7= sItE==2ldl XI#AY
5,000,000 674 A 30,000
IEELIEEOEIE
5,000,000 <44 A 20,000
HSHERINH (E2E) 235,000 270,000 A35,000
= 117,500
= 23,500
= 94,000
101 2IAH| 35,000 33,000 2,000
= 17,500
= 3,500
o 14,000
04 JIZtNZ22XNSES 35,000 33,000 2,000
NHASHE SXXILEH JIHH22 X 1A
Bl 2,916,666« 1H« 123 35,000
= 17,500
& 3,500
= 14,000
201 Zer2d| 34,000 47,000 213,000
= 17,000
S 3,400
= 13,600
01 At22tel8l 34,000 47,000 A13,000
NASHE SAXEHE 29
2,000,000 2,000




2N

HE X R AIE

M HEX|E
el AE (chel:&el)
S - BB ORI(S) - NISAY - BaS 01l bt e HIm =2t
= 1,000
= 200
= 800
NASHE RXNEE 8,000,000& 8,000
= 4,000
& 800
= 3,200
NSUIEIt dd2ng 12,000,000& 12,000
= 6,000
& 1,200
o 4,800
NHSHE &3 12,000,000& 12,000
= 6,000
= 1,200
= 4,800
202 o4l 3,000 2,000 1,000
= 1,500
& 300
- 1,200
01 =U0dbI 3,000 2,000 1,000
DASHE FAXAAE =LY
3,000,000& 3,000
= 1,500
T 300
o 1,200
301 LetEXZ 17,000 45,400 A28,400
= 8,500
= 1,700
= 6,800
14 J|EI2 &3 17,000 45,400 A28,400
N1A =2 XSS AIS
500,000 * 107K A 5,000
= 2,500
& 500
o 2,000
1)sE0AM 012l A0HED| 12,000,000& 12,000
= 6,000
T 1,200
o 4,800
307 SI2H0| ™ 96,000 102,600 26,600
= 48,000
= 9,600
= 38,400
02 QI BAAIEE X 48,000 57,600 A9,600




2 A

HE X R AIE

M HEX|E
el AE (chel:&el)
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
NsE0A 0l2] A0tED| 48,000,000 48,000
= 24,000
= 4,800
= 19,200
05 2I2tRIE S 48,000 45,000 3,000
NASAHE W= 48,000,000& 48,000
= 24,000
= 4,800
= 19,200
402 2I2HX =01 H 50,000 40,000 10,000
= 25,000
s 5,000
= 20,000
02 QI XHE AL 2R (01 THE) 50,000 40,000 10,000
A= & =4 50,000,000 15 50,000
= 25,000
< 5,000
= 20,000
ARSI (ASHE)SEHAS NS (EX) 12,000 0 12,000
= 6,000
i 6,000
301 LEtE2 NS 12,000 0 12,000
= 6,000
= 6,000
14 JIEt2d=S 12,000 0 12,000
NalR=sge SEASNS
6,000,000 +27H 2 12,000
= 6,000
= 6,000
s (AsAHE)DIZESI WS (EE) 5,000 10,000 25,000
= 2,500
i 2,500
307 2lzZtold 5,000 10,000 /5,000
= 2,500
= 2,500
05 2I2tRIE =S 5,000 10,000 /5,000
NalRsg & JIZESIEUS
5,000,000& *1& 5,000
= 2,500
o 2,500
HsLOHEU I EIXE (BX) 10,000 10,000 0
= 3,000
= 7,000




2 A

AEX2HE

= =X
chel: = EER-E)
S - BB ORI(S) - NISAY - BaS 01l bt e HIm =2t
201 LBr2A| 10,000 10,000 0
& 3,000
i 7,000
01 AHR2t2ld] 10,000 0 10,000
NE2E T AsAUE 22g &It
10,000,000 * 194 2 10,000
= 3,000
o 7,000
HA 199,112 0 199,112
= 96,540
T 12,348
o 90,224
HA 7,112 0 7,112
201 Let2AH| 2,912 2,912
01 AtR2tel] 2,912 2,912
DAIREE 2 L22FH| 70,0003+ 123 840
DAKXIE Al 8,000 & x2H %423 672
NAMAI RS ALY
70,0003 *4H x23| 560
NASHASARS Basg
70,0003 *6H »23| 840
202 04| 4,200 4,200
01 =UHOibI 4,200 4,200
DAAXE =0 50,0003 x2F »423| 4,200
FEHYAISHEERIA 137,200 0 137,200
= 96,040
& 12,348
o 28,812
307 2I2H0| ™ 137,200 0 137,200
= 96,040
& 12,348
= 28,812
02 QI BAAIEE X 137,200 0 137,200
DEEANGIIHF =R
952, 777312 *123] 137,200
= 96,040
& 12,348
o 28,812
HEHGUSEHE X2 S 1,000 0 1,000
= 500
= 500
201 LBt2AH| 1,000 0 1,000
= 500
= 500




2N

HEXI A HE]

M EX A
=l 7101 (Bt &9)
SA - BB SRI(B) - MRAR - BAS Ofl st e HIDEY
01 AFR2telH] 1,000 0 1,000
NEAGASHEAE 23|
100,000 51 *1 & x23] 1,000
= 500
[ 500
HOAERXN S 2L RN 4,000 4,000
201 2et2d| 4,000 4,000
01 ArR2telHl 4,000 4,000
NHOAHE FX SE2=(NS) M=
1,000,000& *2Hx2E*12] 4,000
Holelggdstus 4,800 0 4,800
201 er2d| 3,000 3,000
01 AlR2teltl 3,000 3,000
WS TH(NS) K= 5,0002 100 +62] 3,000
301 LEtENZ 1,800 1,800
14 JIEt24d=2 1,800 1,800
DAL A3t s 2AI=
300,000 x6H «12] 1,800
FHOHAZEZHAE 35,000 0 35,000
301 LEtEN S 10,000 10,000
14 JIEt2d=S 10,000 10,000
Nl el EXIsst X
500,000 x4 H «12] 2,000
N0 &3 A 6.000,000& 6,000
17012l OlAHHl XI&
1,000,000 «2&E 12| 2,000
307 2lztold 10,000 10,000
02 LB HAHE XL 10,000 10,000
N0 =2l XA
5,000,000& 2 x13] 10,000
402 RI2EA=201 & 15,000 15,000
01 I EAISE X (RMITHR) 15,000 15,000
NAsHYL |X g2 At
15,000,000& * 14 2 15,000
HAHEE S SO 10,000 0 10,000
201 &Er=2a| 10,000 10,000
01 AtR2teltl 10,000 10,000
NHOAE 293 BA Xz & s2HT
R 5,000,000& *10H 2xx2E 10,000
HH2LIHI(AEXALE) 40,160 34,253 5,907
=38l 40,160 6,280 33,880
JI=2&H] 40,160 6,280 33,880
101 @124H| 32,280 0 32,280
01 &% 32,280 0 32,280




2AM: HEXNHE
M HHPALH|(HEXAHEH)

=9l Jl=3l EECRED
2 - e
SA - B BA(SH) - MRAR - BAES Ofl st e HIDE
NAIRI2IZ2+2(62)
12, 2133 #40A[ 2H+ 122 17,743
NAIRRIZRE(72)
11,1302 x 1 #40A| 2t 122 5,343
NARIIZR+E(82)
9,923 1 *40AI 2Hx 12 4,797
NAIZERI2R2+2(92)
9, 16023 1 *40A| 2Hx 12 4,397
201 =& 1,200 1,400 A200
01 At 2teltl 1,200 1,400 A200
NEN2Y ARl 150,000 ~8H 1,200
202 O] 3,200 2,000 1,200
01 =LHOHI 3,200 2,000 1,200

NEM2E =N 50,0003 »7 Z+82 2,800

2
NEA2Y 22X FHoiY

50,0003 *1H+82 400
203 BR=| 3,480 2,880 600
02 It RF= 8| 480 480 0
NEJAING 2| 40,0003 *12H 480
M FA2HLRFEHI 3,000 2,400 600
1)152! Olat 250,000 * 123 3,000




